K SIS
Lear%‘—’:fg

Percents - missing number questions

Grade 6 Percents Worksheet

Find the missing number (e.g. 10% of 50 = 5)

L 40% of = 1.2 2 87% of = 6.96
% of 10 = 6.8 “  of 8=56

5 54% of = 3.24 6. 28% of 40 =
7 39% of = 35.1 8. 76% of = 3.04
o of 80 = 65.6 10 59% of = 53.1
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Percents - missing number questions

Grade 6 Percents Worksheet

Find the missing number (e.g. 10% of 50 = 5)

L 40% of 3 = 1.2 2 87% of 8 = 6.96
3 68% of 10 = 6.8 4 70% of 8 = 5.6

5. 54% of 6 = 3.24 5. 28% of 40 = 11.2
. 39% of 90 = 35.1 5. 76% of 4 = 3.04
% 82% of 80 = 65.6 10. 59% of 90 = 53.1
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